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B# | DL | %1 ~HEE MEFEE ES %A & coP Datum
Kl 2mzs% [ Ns | EW | 2nz2% | NS | EW | #1 | #2 | #1 ] #2|#1 |#2 || Mean | Ns | EW
13| N |Both| 3NE4 630 3NE3 600 30 1 EW500 | -4 3
14| E |None| 2HE4 170 2SE3 140 30 1 EW170 -
15| s | Ns | asxwa 500 | 4sxwa 590 EW590
16| W | EW| 6SN-1 50 6SS-2 100 | 50 2 EW60 1
17 | N |None|  1NE-2 100 1HE-1 50 50 2 NS90 1
18| E | NS 3DS4 130 2SW-1 50 80 2 NS240 | -3 5
19| s |EW| 3Ns-1 50 6NS-3 150 | 100 3 NS80 | -4 6
20 | W [Both|  1NS1 90 1NS2 120 30 1 NS110 | -1
21| N | Ns 6HE-1 50 2HE5 200 | 250 6 EW400 | 10 -5
22| E |EW| 4sE2 200 4SE-1 100 100 3 EW50 | 6 4
23| S |Both| 3Nw4 630 3NW3 600 30 1 EW610 | -1
24 | W [None|  5sws5 450 5SE-1 50 500 11 EW200 | -6 -6
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B# | DL | %1 ~HEE MEFEE ES %A & COP Datum
Kl 2mzs% [ NS | EW | 25z2% | NS | EW | #3 | #4 | #3 | #4 | #3 | #4 || Mean | Ns | EW
13 | N |Both| 2HE3 140 3NE5 660 | 520 11 EW500 | 8 4
14 | E |None| 2HEs 200 2HE4 170 30 1 EW170 | -1
15| s | Ns | 4sxwa 500 | 4sxw4 590 EW590
16| W | EW| 6sN-1 50 6SN-1 50 EW60
17 | N |None|  2sN2 110 NS2 120 10 NS90 | 1 -
18| E | Ns| 3HE3 150 3NS4 630 480 10 NS240 | -3 9
19 s [EW| 3ns3 400 4csa 130 270 7 NS80 | 8 -2
20 | W |Both|  1Ns3 150 1HE-1 100 50 2 NS110 | 1
21| N | NS 6HE6 980 | 4SXN-2 500 480 10 EW400 | -11 3
2| E|Ew| 3nw3 600 4SE-1 100 700 12 EW50 | -11 4
23| S |Both| 3NwW4 630 3NW3 600 30 1 EW610 | -1
24 | W |None|  5sEs 450 5SE-1 50 500 11 EW200 | -6 -6
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B# | DL | 1 MEFZ 2% i F%AA~ | COP Datum
Kl 2mzs% [ Ns | EW | 2nz2% | NS | EW | #2 | #1 | #2 ] #1 | #2|# || Mean | Ns | EW
13| N [Both| 3NE3 600 3NE4 630 | 30 1 EW500 | -3 4
14| E |None|]  2sE3 140 2HE4 170 | 30 1 EW170 | 1
15| s | Ns | a4sxwa 500 | 4sxwa 590 EW590
16| w|Ew| 6ss-2 100 6SN-1 50 50 2 EW60 | -1
17 | N |None|  1HE-1 50 INE2 | 100 50 2 NS90 | -1
18] E | Ns| 2sw- 50 3Ds4 130 80 2 NS240 | -5 3
19| s [Ew| ens3 150 3NS-1 50 100 3 NS80 | -6 4
20 | W |Both|  1Ns2 120 NS1 90 30 1 NS110 1
21| N | NS 2HE5 200 6HE-1 50 250 6 EW400 | 5 -10
2| E|EW]| 4SE- 100 4SE-2 | 200 100 3 EWS50 | 4 6
23| s [Both| 3NW3 600 3NW4 630 | 30 1 EW610 1
24 | W |[None|  5SE-1 50 5SW5 450 | 500 11 EW200| 6 6
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B# | DL | 1 MEFZ 2% i F%AA~ | COP Datum
Kl 29zs% [ NS | EW | 25z2% | NS | EW | #4 | #3 | #4 ] #3 | #a|#3 || Mean | Ns | EW
13 | N |Both 3NE5 660 2HE3 140 520 11 EW500 -4 -8
14 | E |None 2HE4 170 2HES 200 30 1 EW170 1
15| S | NS 4SXW4 590 4SXW4 590 EW590
16 | W | EW 6SN-1 50 6SN-1 50 EW60
17 | N |None 1NS2 120 2SN2 110 10 NS90 1 -1
18 | E NS 3NS4 630 3HE-3 150 480 10 NS240 9 3
19| S | EW 4CS4 130 3NS3 400 270 7 NS80 2 -8
20 | W |Both 1HE-1 100 1NS3 150 50 2 NS110 -1
21 N | NS 4SXN-2 500 6HEG6 980 480 10 EW400 -3 11
22| E | EW 4SE-1 100 3NW3 600 700 12 EW50 4 11
23 | S |Both 3NW3 600 3NW4 630 30 1 EW610 1
24 | W [None 5SE-1 50 5SE5 450 500 11 EW200 6 6
@3 IMP|45 |20 15 | 15
B 4 Infinity 3 To Win
* B IMP 45 20
&3 NP 45 20 s
%%




